29006 NEEME T B fFEHEK

7= miiEA

M

BHETEMN 1.4308,

B 4L 8248 1SO 4762 MAARF 1SO 4032 , FEHEMH,
KF @30 mm HI<AIER 1SO 4017 , TEMH,

I
Z B IALIE,

BR:
BE&7 30 M 40 mm WEELEEEFNRSER |, BHIEAAR2HR
SRS IR R,

BEEK
AT EENREM,

B
- A EMAFE 29050

© norelem www.norelem.com



29006 TS| T B & sl

®
A g A s
! } [aanal
i > _
a +|~+ / 1/ I \I |m rnl | a a
o o e == 5 i —— = . Qlml Jf—1
L\ \\ / | ; |
! ; :
M
K K
e c
A i N s Zrzz i
w| T 1’ v c w| T _ _l )
&) = |~ 1
&J t
s E . R
R L
i
29006-11212 A 12,1 12,1 305 | 25 |32|35|25| 555 | 655 | 43| 23 495 M6x18
29006-11414 A 14,1 14,1 305 | 25 |32(35|25| 555 | 655 |43 23 495 M6x18
29006-11616 A 16,1 16,1 305 | 25 |32|35|25| 555 | 655 43| 23 495 M6x18
29006-11818 A 18,1 18,1 305 | 25 |32|35|25| 555 | 655 |43 23 495 M6x18
29006-12020 A | 201 20,1 305 | 25 |32|35|25| 555 | 655 43| 23 495 M6x18
29006-13030 B 30,1 30,1 40 | 384 (38|48 - | 78 87 |58 455 69 M8x30
29006-14040 B | 40,17 | 40,17 60 | 50,4 |50 63| - | 112 | 1249 |87| 52 102,5 M10x35

© norelem www.norelem.com



